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FIRST MID TERM EXAMINATION - 2022

D -sm © SCIENCE © Time: 130
‘Marks : 50
I Choose the c correct answaer, 10 X 1 =10
L. 1 metricton Is equalto vuverirmeriereseririns «
a) 100 quintals " b) 10 quintals
- €) 1/10 quintals d) 1/100 quintals
, 2. Which of the following Is not a device to measure mass?,
: a) spring balance " .b) beam balance
‘ c) physical balance d) digital balance
: _ 3. Thecentrifugal force Is ......ccovvennns
t ' a) real force b the f‘orce of reactlon of centrlpetal force
c) virtual force d) directed towards the centre of circular path
4. When me mix a drop of Ink In water. we get @ .....iuere. ATE |
a) heterogenous mixture b) compound c) homogenous mixture
_ d) suspension
o 5. Changein number of neutrons in an atom changes ILto ......ocvvvnvivnins
a) anlon  'b) an Isotope ¢) an Isobar . - d) another element
f 6. Identify the animal having four chambered heart
a) lizard b) snake . €) crocodile d) calates
7. Alr sacs and pneumatic bones are seen In ~
~ a) fish b) frog c)bird . d) bat
8.  Poikilothermic organisms are .u...cieivervvssurens +
a) fish, frog, lizard, man 'b) fish, frog, lizard, cow
|  ¢)fish, frog, lizard, snake " d) fish, frog, lizard, crow
,' 9.  The flbres consists of vu..vureiserssirivons s
a) parenchyma - | ~ b) screlerenchyma
) collencifyma ~d) none of above

| 10- Smooth mUSCles oCcur isl LR NN R NN AN NN N ]
a) uterus. . b) artery . c)veln’ d) all the above
I Answer In one or two sentences, (Any seven). 7X2=14

(Question No, 20 is compulsory)
. Deﬁne least count of any device,

= ) Speed isa e Quantity 'where‘ass,
”) VEIGC‘W IS a u,u_mnu‘-uﬂn‘n” quantlty;
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Q- STD SCIENCE Page <2

www.CBSEtips.in

4=12
S1gyste

w44 !

¥ &

nned with OKEN Scanner
gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

